EAGRAROBREERT — 2 N— ABISH —F

2021528248 (k) 25EI&BEE3H

m%f’ﬁﬁﬂlﬁﬂu C13 #7%—##% ‘ (%E] W ‘ (sl — | & (B) 14000 B
[AE4£] 17 :340,000  ~ 23#&:109,000 3#&:61,000H  4#&:41,0008”  53&:27,000 ™
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
N o [Ulf=sEEc] :31. -10-6- . - NS (BEHE)
1 3| A=Y p—ry o4 L 1(3_1)2 10-10-6-2 | 38.5 1 (4_990) *#ﬁ:ﬁé i
xRS Bivr—~NrErX R4S
N A SHEA .31, _a_ . — AEED (BHE)
) o | RS F Y N4 o4 ShA 1 (331)8 3-3-3-1 | 40.2 2 :?411) e
R:Z2yY—>b—A— B:XavIAHLT EUFHT7— L
o PAEEFIGE : -9-9— — ROEE (BHE)
3 4| 2/—70- it 4 e 1.(3{3.5 9-9-9-8 | 40.2 8 <4+737) b
LTANNTTFHF— BvAxA—Fv— K EvilLyRT7—L
y 5 44 | DOEEEE— 1:33.5 8-8-10-10 | 40.1 | — 3 429 |BER (BHE)
4011 | F-FTY =7 56.0 (7€) 2 | HEEA
L:¥x>iAn4A— B:FabT>ay R 1#
N t 4 | BT 1:33.5 4-4-5-4 | 4.3 — 6 487 | GEBZ (BHE)
5155 7w 77V —0O g {54.0 (1) (-5) RE
R:ib—t>ya—4> B:KRUTIZI)—> =] 27
— . [fE] B &AL :33. —5-4- . — FHEH (BHE)
617/8| AZI1TRATZ47 5 L 54.0 (11313/28) M ° f;) ;Z‘yklﬁéa
L:T7—%ZXN)— B:I5R— BHR& AMEXT-T0
I S > 4 | K EAME 1:33.9 7-7-8-7 | 40.7| — 7 462 | BETB—N (BEHE)
718|107 7V A AV - 56.0 (1/2) (+9) | LIEIERAEE
Libh—trhTLRY B4 —>FAH— 24N 45
o N KZAiZE : —6-7- — SBREX (BHE)
s o #77mne—+ T Py | TeTe |we) - |0 | e | BRR
R:TF1—=TTVI>7 BEVTRLTYS SZvae]
N = = a):i{CES :34. -1-1- . — REE (BEHE)
9l7!|7 Hrx55 4 4 ;_0 1(314)1 1-1-1-3 | 43.1 9 ;1+738) p i
L:ZENWN=9 B:N—bht1—T Eld=: |
o . RFRAAER : 00— - BHERE (BHE)
10l8lg |+ —2—T/N=T # 4| B 1.(365).4 2-2-2-6 | 44.1 4 ff) S
L:Jq 7 hT—lbEY BECML—XRU—F FERS
® 1 —F—@EBIERL
1T=7r= 7,9,2,5,6,8,10,1,4,3
20—F— 7,9,2,5,8,6,10,1,4,3
Ja=9= 7,9,2,8,5,3,6,10,4,1
40—F— 2,3,7,5,8,9,10,4,6,1
[ N5
B 3 1404 714K 2-3 140H e E 2-3 150/ JEE 2-3-4 3,640/
B B 3 130H4 3-4 1,930H B = 2=3 160H 3EE 3-2-4 11,330H
2 120 2-4 1,820H B H 3-2 310
4 660M

ARICOVWTRDTEEERROODE. TR LI,




